Eﬁlﬂ* P4 l~ -H-_ t“zﬂy*&\'\i [n l:] & |Hakudo Net Service

SMHF

851152

MFOE X K& (mm)

M3 x 6

1018

SMHF

851120
FFOE X R & (mm)
M3 x6
M3x8
M3x 10
M3x12
M3x15
M3 %20
M4 %10
M4 x 12
M4 x 15
M4 % 20
M4 x 25
M4 % 30
M5 x 10
M5 x 12
M5 x 15
M5 x 20
M5 x 25
M5 x 30
M5 x 35
M6 x 10
M6 x 12
M6 x 15
M6 x 20
M6 x 25
M6 x 30
M6 x 35
M6 x 40
M8x 10
M8x 12
M8 x 15
M8 x 20
M8 x 25
M8 x 30
M8 x 35
M8 x 40
M10 x 20
M10 x 25
M10 % 30
M10x 35
M10 x 40

FEED CCRNRM LY. BIRECATEAY A T,

M

851121

851120

MOME X £ & (mm)

IR X £ & (mm)

M12 %20

M2 x4

M12 %25 M2 x5

M12 %30 M2 x 6
M12 %35 M2 x8
M12 x40 M2 %10
M2.6 x4

M2.6 x 6

M2.6 %8
M2.6 % 10
M3 x5
M3 %6
M3x8
M3x10
M3x12
M3x15
M3x16
M3 %20
M3x 25
M4 x6
M4 x8
M4 x10
M4 x 12
M4 %15
M4 x 16
M4 x 20
M4 x 25
M4 % 30
M5x 8
M5 %10
M5 %12
M5x 15
M5 x 20
M5 x 25
M5 x 30
M6 x 10
M6 x 12
M6 x 15
M6 x 20
M6 x 25
M6 x 30
M8x 15
M8 x 20
M8 x 25
M8 % 30

108

BELLL. & EH DD, l.' E iﬁl

BiAkkXSit




